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1. What happened to the plane?
A. Tt was delayed. B. It would take off ahead of time.
C. It would stop flying because of the bad weather.
2. At which gate would they board?
A. Gate 5. B. Gate 2. C. Gate 3.

WTEE 2 BRbikl, EIEES 3 -4,

3. What's the weather like now?

A. Sunny. B. Cloudy. C. Rainy.
4. What will they probably do?
A. Stay indoors. B. Take a walk outside. €. Go to the cinema.

Wi 3 BLAERE, BIES S -7 B,
5. Why does the man want to give up his job?
A. Because the pay is too low.
B. Because he has to work for long hours.
C. Because the hours are too late.
6. What is the woman’s opinion?
A. She doesn't care. B. She is against the man’s idea
C. She supports the man.
7. What can you learn from the dialogue?
A. The woman has decided to give up her jab.
B. The woman has found a better job.

C. The woman is well paid now.

Wreh 4 BUAARE, EIA S 8 - 11/,

8. When did they start for the cinema?

A, At2 p.m. B. At 1:30 p. m. C. At2:30 p.m.
9. How did they go to the cinema?

A. By taxi. B. By bus. C. On foot.
10. How much should they pay for the taxi driver?

A. § 4.16. B. § 4.60. C. $5.00.
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11. Which one is NOT true according to the dialogue?
A. They were caught by the traffic jam and late for the movie.
B. The driver kept the change.
C. They would probably go back by bus.

W 5 Bk, IS 12 - 15 .
12. Why would he face danger to get a picture?
A. For fun. B. For money. C. For his work.
13. Once he went to Africa with his wife to
A. take photos of the wildlife there.
B. spend their holiday. C. study the wildlife there.
14. What did he care most when he knew what happened to his wife?
A. His wife’s safety. B. His own safety. C. His picture.
15. Which one is true according to the passage?
A. Sam disliked his wife. B. Sam was a good photographer.
C. Sam was a bad husband.
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What or Who What to do or What to be When or How or Why

Mary was not well (16)

She : r (17) for two days.

But she is better (18)

(19) ' was all right now,

Everyone (20) because of the change of weather.

N TP

Lo e . oa



L% Hbilgrida ()

E—($ 15 /NVEE; /N .5 5,385 22.5 %)

W S BOWESE . R BOHHEBOM S A TLAS /NS, MR AR BT 45 19 = 2R 70 P sk oE B fE
I, HARTE IR AR RO AN L B o W B X 436 sl 1 i, A4S A eF 1) B0 e 4 /N, 8/ S P
UrSEfE , &/ MERE LA L S BRI R ], fBEXHE B I s

a1 Bobb R, ISR 1 -2 /N8,
1. Where are the two speakers?

A. At a museum. B. At a shop. C. At a library.
2. Why does the woman walk around here?

A. To make friends with others.

B. To leck for her parents.

C. To hunt for something special.
WS 2 BebbR, BB 3 -5 &,

3. What is the relationship between the two speakers?
A. Doctor and patient.
B. Policewoman and driver.
C. Teacher and student.
4. Why did the man have to be punished?
A. He killed a dog in the street.
B. He hit the woman.
C. He drove too fast after drinking.
5. What’s the speed limit in the business center of a city?
A. 40 mph, B. 50 mph. C. 60 mph.

WS 3 Bubhe, [ 6 -8 &

6. Where are the two speakers spending their Christmas?

A. In Japan. B. In China. C. In America.
7. Which of the following do they miss most?

A. Their parents. B. The colored lights. C. The Christmas parties.
8. What is the woman’s brother fond of?

A. Going shopping. B. Climbing mountains.  C. Photographing,.

Wres 4 BoprRE, EIERE 9 - 12 &,
9. What do you know about the man?
A. He has been to New York. B. He has lost his job.

C. He's on business.
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10. How leng haven’t the two speakers seen each other?
A. For two days. B. For a week. C. For a month.
11. Why was the man eager to see the woman? i
A, To turn to her. B. To make the suggestionC. To tell his story.
12. What does the man want to get anxiously?
A. A good salary. B. A good preparation. C. A good job.

WYHE S BURORL, [EIAEAS 13 - 15 A,
13. When did the speaker begin to go to the forest for the rubbish?

A. 3 years ago. B. 4 years ago. C. 5 years ago.
14, Why does the speaker often go to the forest to pick up rubbish?

A. To reuse something found in waste.

B. To do something for the environment.

C. To keep it to recycle.
15. How long does the speaker stay in the forest each time?

A. Three hours. B. Four hours. C. Ten minutes.
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16. is coming from the motor.

17. We can slow it down and stop at the next park place and check

18. The motor is burning hot because we have

19. Frank is terribly sorry for
20. 1t is easy to make
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1. What kind of dress do they like for spring?

A. Woolen. B. Silk. C. Cotton.
2. What color does the woman prefer?
A. Yellow. B. Green. C. White.

WS 2 Brbh, A 3 -4 M,
3. What do they know about Bob’s illness?
A. He must have got it in India. B. He must have worked too hard.
C. He must have been badly treated when ilt in India.
- 4. What is NOT true about his illness?
A. He is geiting better and better. B. He should have seen a doctor earlier.
C. It was too late to send him to the hospital. '

e 3 BMR, BB S8 5 -7 /N
5. Where does this conversation probably take place?
A. In a bookstore. B. In a department store. C. In a ticket office.
6. Does the man find what he wants?
A. Yes. B. No. C. He's still looking for it.
7. Which of the following is not true of the thing that the man wants?
A. It is sold out. B. The man can come back for it after some days.
C. They don't sell this here.

e 4 BRbR, S 8 - 11 I,
8. What does Peter want to do?
A. He wants to take a holiday. B. He wants to go to Europe.
C. He wants to travel around Europe during this summer holiday.
9. Does her mother agree?
A. No,she doesn’t. B. Yes,she does. C. She is not sure if she will agree.
10. How is staying in youth hotels?
A. It is cheap and it is also possible to meet lots of young people there.
B. It is cheap.
C. It is possible to meet lots of young people in youth hotels.
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11. How long are they going to stay there in Europe?

A. Six weeks. B. Six weeks to two months. C. Two months.

WS S BAbRl, EIZFER 12 - 15 /M,
12. For what did Jack London go to Alaska?
A. He went there to find ideas for the baoks.
B. He went there to find gold.
" 13. Why did Jack London leave school?
A. Because he had to work to help his family.

C. He went there to find jobs.

B. Because he had completed his education.

C. Because he wanted to become a writer.
14. Where did Jack London get ideas for his books and stories?

A. His life in Alaska. B. His childhood friend. C. A large dog in the north.
15. What do we know about Jack London from this passage?

A. He became famous but remained poor all his life.

B. He didn’t become famous until he died in 1916.

C. He killed himself hecause of poor health.
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‘(20)

Who Action Where or when
The man shall be home (16)
T [ poye.
The man hopes to go out (18)

(19) are coming to dinner on Fridgy niéht_
The man

on Saturday morning
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I. What did Xiao Huang pest Henry?

A. Some picture — books. B. A Christmas card. C. A New Year's card.
2. What does Henry do well in?

A. Chinese. B. Maths. C. English.
3. Why does Xiao Huang want to drop English?
A. He's weak in it. B. He doesn't like it. C. He doesn’t think it useful.

WrsE 2 BOBbRE, B 4 -6 B
4. Where did the student study last term?
A. Ir a middle school in a big town.
B. In a middle school in a small town.
C. In a middle school in a big city.
5. What is the reading — room like?
A. It is big and bright. B. Tt is small and nice. C. It is clean and bright.
6. What must we do after we finish reading a newspaper or a book?

A. You must keep it clean. B. You can take it away. C. You must put it back.

Wrs 3 BAre, [mER T -9 B
7. What do the fish eat when they are small?

A. Other fish. B. They feed on eggs. C. Plants in the water.
8. What do fish that eat other fish need?

A. Eyes and noses. B. Ears hidden in the head. C. Large mouths and strong teeth.
9. Where are the ears of the fish hidden?

A. In the nose. B. In the eye. C. In the head.

WrsE 4 Bobtkl, EI2EE 10 - 12 &,
10. Whe took Charlie to New York?

A. His parents. B. His uncle and aunt.  C. His uncle.
11. Why did Charlie ask the persons the way?
A. He lost his way. B. He couldnt find his uncle. C. ‘He was by himself

12. Why could Charlie understand the people? Because .
A. they were kind B. they spoke English C. they were policemen
-7
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13. What had happened to the Northeastern tigers now?
A, They are getting less in the nature park.

B. They are not often seen in the wild.

C. We can not see any of tigers anywhere.

14. How many of these tigers are inereasing by each year?

A. By 53 each vear.
15. What has the government decided lo build now?
A. A forest.

B. No other nature park. C. A wildlife research centre.

B. By about 10 each year. C. By cne or two each vear.

BT WFEEE: (S5 /MNEGEELS S,#RT7.54)
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What or Who What 1o do or What to be |[ When or Where or Why
Mike may spend his holidays i (16)

(17) hopes to go jl_lo China.

The couple would not travel | (18)

Travel by sea (19) as by air,

The couple (20) because of the wife.
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1. What colour does the man like from the conversation?

A. Grey. B. Red. C. Black.
2. What does the man want to buy?
A. A book. B. A hat. C. A pen.

W 2 B, A 3 -4 &,
3. What is Tom’s favorite sports in summer?

A. Playing tennis. B. Swimming. C. Playing tennis and swimming,
4. What do you know about Bob?

A. He doesn’t like watching foothall on TV.

B. He likes playing football.

C. He likes weightlifting.

WrsE 3 BubbRl, &S 5 -7 &L,
5. Where does Marry come from?

A. She comes from London. B. She comes from Manchester.
C. She comes from a small town.
6. In London, the underground is

A. the quickest way of all, but it's also the cheapest
B. the quickest way of all, but it's also the dearest
C. just the dearest
7. What way is the cheapest according to the dialogue?
A. By train. B. By bus. C. By underground.

WrsE 4 Bobbkl, EIZ5E 8 - 11 #,
8. What's the matter with Anne?
A. She lost her job. B. She wanis to find a job.
C. She doesn’t know if she should change her present job.
9. Why does Anne want to change her job?
A. She can get more money. B. She doesn’t like her present job.
C. Her present job is not interesting.
10. When should Anne make her decision?

A. Tomorrow. - B. Today. C. Next week.




11. What does Robert want to do?
A . He wants to give Anne a hand. B. He also wanis to get that job.

C. He wants to give Anne a job.

W S BEADRL, EIAE 12 -15 8, 3

12. When did Susan’s father come back? .
A. At 6 o'clock. B. At 8 o'clock. C. At 9 o'clock. _
13. Who opened the box? 1
A. The monkey. B. Susan’s father. C. Susan. :
14. What name did Susan want to give to the baby monkey?
A. Billy. B. Holly. C. Tolly.
15. Where did Susan’s father get the monkey?
A. In the forest. B. In the zoo. C. The text doesn’t tell us,
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Who or What | What to do or What to be Where or When or How :i
¥
Mr. Smith (16) every day. :
Lucy runs at least (17 .
. . bl
(18) is better than nothing. ﬁ
Lucy (19) : to a health club before. i:
L
L
Lucy (20) because she loves fresh air, i:
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1. Whom do you suppose they are talking about?

A. Their student. B. Their son. C. Their clerk.
2. How old is Bob?
A. 15. B. 16. C. 17.
3. What is the woman’s attitude to Bob’s traveling on his own?
A. She is worried about it. B. She is for it. C. She agrees with the man.

WreE 2 BEPRL, IS4 -5 8,
4. What are the two tickets for?

A. A basketball game. B. A foothall game. C. A table — tennis game,
5. When will they meet?

A, At 7.00. B. At 8.00. C. At 9.00.

Wres 3 BabEL IR 6 -7 F.
6. Where were the two pupils playing football? _

A. On the football field. B. In front of their home. C. On their way home.
7. What do you suppose is likely to be the result of the accident?

A. The two pupils die. B. The two pupils will soon recover.

C. The two pupils will have to stay in hospital.

DT 4 BATE, ARS8 - 10 1,
8. Where does the girl live?
A. In a small town. B. In a big city. C. In a mountain village.
9. What is a potluck supper?
A. A meal thai people have outdoors.
B. A meal that people have indoors.
C. Something like a picnic.
10. Where did the boy swim?

A. In the sea. B. In a river. C. In a swimming pool.

WS S BedrkL, EESS 11 - 15 .

11." Which country has won the game?
A. France. B. England. C. Neither.
V11 -




12. Who do you suppose is the goal - keeper of the French team?

A. Cotton.

B. Dupont.

13. Why can’t Cotton kick the ball into the goal?

A. Because he was too far away from the goal.

C. Patou.

B. Because a Frenchman stops it with the side of his head.

C. Because he kicks the ball over the goal.

14. When there are still three minutes left, where is the ball most likely to be?

A. A Frenchman has got the ball.
B. An Englishman has got the ball.
C. It's outside the foothall field.
15. When does Crozat get the goal?
A. When Patou kicks the ball to him.
B. The second time he touches the ball.
C. As soon as Meunier passes him the ball.

FTY WEER: (HS5/ME;BE 1.5 5,#57.5%)
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What or Who What to do or What to be [I{ When or Where
Jeff was asking for Sophia | (16)

But Sophia | (17) Tﬂn'ght then.
Tony was having a party (18)

Jeff (19) with him.

The woman mistook Jeff (20)
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1. For whom does the woman probably want to buy a ski jacket?
A. For her husband. B. For her son. C. For her daughter.
2. Why doesn’t the woman buy the jacket?
A. It's 100 expensive. B. 1t's too big. C. She doesn’t like the colors.

Wrss 2 Bk kL, IS 3 -5 L,
3. Why does the man make the phone call?
A. He wants Lo book some seats for the show.
B. He wants to gel some information about the show.
C. He wants to know on what day the show will be given,

4. How much does the tickets cost if the man wants to buy one?

A. 30 dollars. B. 13 dollars. C. 33 dollars.
5. When will the show probably end?
A. At 10:00 pm. B. At 8:00 pm. C. At about midnight.

Wres 3 BT R RIS 6 -8 B,
6. Who is Ken?

A. Beth’s brother. B. Beth’s boy friend. C. Beth’s father.
7. Where did Beth go last night?
A. She went to a bar with her friend. B. She went {0 a cinema with Ken.

C. She went to a party with her parents.
8. What does Beth’s brother think she should do?
A. She’ d better look for a new boy friend.
B. She’ d better buy something for herself.
C. She’ d better ask herself if she wants anything,.

WS 4 Brbbk, A5 9 - 11 B
9. What do both of the two speakers want to do in the coming new year?

A. To save some money. B. To work harder. C. To lose weight.
10. What did Henry do last year?

A. Ho joined a health club. B. He stopped smoking. C. He got a good joh.
11. Who wants to have a nice vacation?

A, Jeff. B. Alice. (.. Henry.




